A RS IRE R ERE (FR2555A13H~15HRAHE)

WatHRE (1 Sv/h)

NO | HhRES REERSA 7 XigfE
cm 50cm 1.0m

1 A—4 HEAI#AO 0.76 0.67 0.59 BEh

2l B—3 |[#AMKIEE 0.74 0.50 0.45 ED)

3] B—4 [Z/pifEHE 1.02 0.47 0.38 ED)

4 B-—5 [HHEARSE 0.52 0.48 0.44 ED)

5, B—5 [BSihchNEfE 0.44 0.42 0.40 £l

6] B—5 |[ERGERfHA 0.64 0.38 0.30 ED)

71 B—5 [XGERfhAE 0.19 0.20 0.19 ED)

8] B—5 [FEXEmI 0.79 0.47 0.44 =l

9] B—6 [THHALAERME 0.55 0.45 0.38 BEh
100 B—6 [THJIfHE 0.27 0.26 0.28 BEh
11 B—6 [FEERESEREO (FO) A 0.59 0.44 0.30 Bh
12| B—6 EJJ?(IEI#%?)H 0.53 0.43 0.37 D)
13] B—6 [hLgiftik 0.65 0.55 0.41 Bh
14| B—6 |FHABHME 0.65 0.46 0.35 BEh
15 B—6 |BEORERAREEH] 0.85 0.54 0.44 £
16] B—6 [KIRELEFHE 0.88 0.34 0.28 ED)
17 B—7 [|/NAEFHIR(UERTENE ) 0.53 0.39 0.36 Bh
18] Cc—3 [FAHEMRAO 0.44 0.39 0.39 £
19] Cc—3 [#/Af=HithAOfHE 0.44 0.43 0.41 £l
200 C—4 |#BOLMKA 0.73 0.49 0.43 £l
21 C—4 [FHEX(BFHFMAEIE i) 0.49 0.30 0.26 £
22| C—4 |BX#BEfHE 0.64 0.40 0.35 £
23] C—4 |BXII—A29 (BE) (1) 0.36 0.31 0.27 £
24| C—5 [BEENERfE 0.65 0.49 0.42 =l
25| C—5 |ALEH#FHE 0.58 0.51 0.47 =1l
260 Cc—5 |K£i1F 2.1 1.18 0.98 £l
27 C—5 |TFrEEHNKA 1.05 0.60 0.44 £
28] C—6_ |52oFELE 0.47 0.43 0.40 BEh
29] C—6 | E#HHELNEEER 0.43 0.36 0.33 BEh
300 C—6 [HBlIIZXH#hADO 1.20 0.81 0.62 BEh
31 C—6 MBI EMAEKhEF EEm 0.95 0.60 0.49 £l
32l Cc—6 [LATULAEBER 0.64 0.45 0.39 Bh
33)] C—6  |MEBAFMHA 0.52 0.42 0.36 BEh
34| C—6 |FEEFREEEIHIZHTH 0.76 0.55 0.48 BEh
35| C—6 |IUTFfEitt 32— (HEA#H) 0.28 0.21 0.16 BEh
36| C—6 |IUTHEISERAEE 0.53 0.41 0.39 Bh
371 Cc—7 [/I\{AUNNAVED 0.58 0.51 0.42 Bh
38] C—7 | KEXEEG) 0.85 0.56 0.49 Bh
39 c—7 INAEREEER 0.66 0.38 0.29 En
40] C—7 |[{EMFEERIEFTIAZEH 0.43 0.44 0.39 BEh
41 C—7 |EBEEREMATE 0.69 0.58 0.47 B
42| Cc—7 |hUBEEFE 0.77 0.63 0.47 BEh
43| C—7 |[EhEih (BiEH15) 0.42 0.47 0.45 BEh
44| C—7 | XKFEHIMFhHE 0.97 0.54 0.43 BEh
45| C—8 |[BEBR(GhfE) 0.55 0.60 0.47 BEh
46| D—2 |J—ryyRCCAO 0.55 0.57 0.57 ED)
47 D—3 PRFERE 1.64 1.15 0.90 =)
48] D—3 TR 0.48 0.48 0.44 ED)
49| D—4 |SBh(ERTfhHA 0.57 0.38 0.35 BEn
500 D—4 |EAEZ/ AR 0.36 0.40 0.38 BEh
51 D—4 [EBPRKAELE 0.62 0.43 0.40 £l
520 D—5 |[FhEEERHE 0.78 0.35 0.30 Bh
53| D—5 [EEE/INFR (BIEFHED) 0.59 0.37 0.28 =l
54| D—5 [BE/NEREER 1.22 0.77 0.59 BEh
55| D—5 |IHEMZ2AREEHI 0.63 0.53 0.46 BEh
56 D—5 |[BBOHEAOfHE 0.45 0.41 0.35 Bh
5711 D—6_ |{fARYILI SR 0.15 0.16 0.12 BEh
58/ D—6 [BFHA—TUNE 0.28 0.22 0.18 BEh
59 D—6 | EpOER#MA 0.58 0.37 0.27 Bh
60 D—6 Hi~s A+Fi§ 0.55 0.48 0.38 Bh
61 D—6 |HhEEISGEHEihA 0.75 0.69 0.46 BEh
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NO | HEES AEEFA —SRETRE Lit S K313
cm 50cm 1.0m
62| D—6 [fafit EEFEkiE 0.49 0.53 0.45 BEh
63f D—6 |HEE=—a—37  (KXE) 0.86 0.56 0.44| BEh (ButhbrE)
64] D—7 |[EBFERERAREEFHE 0.45 0.36 0.32 Bh
65] D—7 |LEEERBRZI VIS 0.17 0.19 0.22 BEh
66/ D—7 [/NAEEH#R 0.97 0.68 0.59 Bh
67] D—7 |2)I|Hhis 0.63 0.45 0.44 Bh
68| D—7 |ERULEEX400mAEftia 0.33 0.35 0.31 Bh
69| D—7 |FEHEERAO 0.69 0.54 0.46 Bh
700 D—7 [EEBEEAE 0.42 0.45 0.33 Bh
71 D—7 |VIAAERTE R A 0.45 0.43 0.43 BEh
72l D—8 |FEIIFHEHIR) 0.25 0.23 0.21 BEh
73 E—2 |WFEME 0.91 0.58 0.53 D)
74 E—2 [BEAFCERE 0.93 0.46 0.40 D)
75 E—3 |[BOEODMhigEA 0.55 0.50 0.46 Bh
76| E—4 |[BEAREEH 0.30 0.31 0.30 B
77 E—4 [HEE DR REEH] 0.64 0.47 0.42 Bh
78 E—5 |FRIRALfFHE 0.33 0.35 0.33 BEih
79 E—5 |8k 0.56 0.35 0.32 Bh
80 E—6 |—OXi#hR 0.80 0.58 0.43 BEh
81 E—6 |t EFFER=FFHETE 0.75 0.50 0.41 Bh
82| E—6 [/NEAEHISAMA 1.01 0.68 0.60 BEh
83] E—6_ | KBOEYISUF 0.74 0.65 0.55 BEh
84| E—6 |[EEGEIHFAAA) 0.83 0.70 0.61 BEh
85 E—7 |FRIRERESEM R 3.46 1.17 0.71 BEh
86 E—7 RIS ATER 0.71 0.53 0.45 Bh
87 E—7 |ERAREER 0.19 0.23 0.25 BEh
88 E—7 |ERARERHFRME 0.49 0.43 0.33 BEh
89| F—4 [fF/itfhE 0.58 0.48 0.43 Bh
90 F—4 |HREMREEL I—EIHIGH 0.53 0.41 0.37 BEh
91 F—4 |AESZABUtE2—d] 0.50 0.37 0.32 Bh
92 F—5 [BAM#A(R289H/5500m% LHE) 0.56 0.43 0.38 BEn
93 F—5 |ZERARER 0.58 0.50 0.40 Bh
94 F—5 |®Bt A2—ZEAiI 1.07 0.61 0.49 BEih
95 F—5 |ZIEPGHRBIEYA/0h 0.34 0.35 0.31 BEh
%6 F—6 |&LEEKHADO 0.41 0.44 0.37 BEh
97 F—6  |FIEHISET FIR 0.71 0.45 0.39 BEh
98| F—6 |EBIRN\REH{TE 0.31 0.33 0.38 BEh
99| G—1 KEH (FE- XEKE) 0.31 0.23 0.23 £
100 G—3 |FAEA LEIEHIS 0.28 0.25 0.23 Bh
101 G—4 |EEKGRERGEISI{TIR) 0.45 0.39 0.34 BEh
102] G—4 |ZEREhE 0.54 0.32 0.30 Bh
103] G—5 [HREHXAHCCEI&EHIG{ti 0.45 0.31 0.25 BEh
104] G—5 [IFLEEEHhE 0.61 0.50 0.44 BEh
105 G—6 | KREBTHEEZERM 0.21 0.22 0.21 BEh
106] G—6 [BEHFTFE 0.43 0.38 0.32 BEih
107 H—3 A 3 4 R ithisg 0.28 0.25 0.23 Bh
108] H—4 |EECAIELEE 0.24 0.21 0.20 Bh
109] H-—5 Eﬁ'n**ﬁ!ﬂ%*gﬁ' CANERN) 0.34 0.29 0.30 Bh
110l H—6 [KERIEH#DERE 0.27 0.28 0.23 Bh
111 1—3 Faoo FG2) 0.31 0.30 0.28 Bh
112 1—4 BFERICYHRTILAORMAE 0.29 0.22 0.18 BEh
113 1—4 BADE () 0.12 0.10 0.09 BEh
114 1—4 HRORX v JiHAO 0.34 0.22 0.21 BEih
115 1—4 A ELERRH L AR R A5 m CKE S ) 0.16 0.18 0.16 Bh
116 J—5 FREILUEIE IS 0.10 0.10 0.09 BEh
117 K—=8 |HFroRILAOETES 0.17 0.14 0.14 BEh
118 K—3 B IWLIUTE - — 0.04| £Y (24/11/138I%)
119] K—3 [BEHAE4hA — - 0.08| 2Y (24/11/1381%E)
1200 K—3 |KEREHIF {0 0.16 0.16 0.15 BEh
121 K—4 [z — - 0.17|8&h (24/ 8/ 5AIE)
122 K—4 |[#fE 0.05|BEn (24/ 8/ 5AI%E)
(BHhBRE) (X, rﬁ?%mil@;ttii{r]&h%zf—&_éiribit




